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C++

#include <iostream>
int af]l] = {{
1,2,341
4,5,6} ¢
7, 8,91
%
int b[]{] = {{
5,0, 8}, ¢
2, 1,744
5,9, 3}
¥
int void () {
for {intm=0; m<2;m++}{
for {intp=0;p<2;p++){
for{intn=0,n<2; n++) {
c[m]lp] = ¢[m][p] + alm]{n} * binilp};

}
}

}
for(inti=0;i<2; H+}{

for{intj=0;j<2; _;++){
cout << ¢li}fil << " ";

}
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Cout <<\n;
return O ;

}
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public class JavaHomeWork {
public static void main{String[] args) {
intafl{} = {{
1,2,3 41
4,5, 6}, {
7,8,9}
i
intb(jl ={{
5,0, 8}1
2, 1,701
5,9, 3}
|2
for(intm=0;m<2; mt){
for (intp=0; p <2 ; ptt) {
for(intn=0; n <2 ; nt+}{
cfmi{p} = c[m]lp} + alm]in] * bn}ipL
}
}
}
for{inti=0;i<2;it+){
for{intj=0;j<2;j++){
System.out.print{c[i](jl +","},
}
System.out.printin{""};
}
}
}
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#include "stdlib.h"

ffinclude “stdio.h"
#include "time.h" B2E (L9 H)



#deline  range 1000,
void swap(int ¥, int*);

int main{int arge, char* argv(])

{
int ary[10];
srand(ime(NULL));
for(int i=0 ; <10 ; 1++)
{
ary[ij= rand()%range;
}
for(inti=10-1,i>=0;i-)
{
forfint j = 1, j <=1; j++)
¥
1
i ury[3-1] > aryljl)
swap(&ary[j-1], &ary[j});
}
h
for{int i=0 ; i<<10 ; 1++)
{
printf("%5d", arylil}:
}
printf("\n");
return O
b
void swap(int* R, int* L)
:
int temp;
temp = *R;
$R = *L;
*], — *R;
!
rava

import java.io.®;
import java.lang.Math;

public class factorial §

public static void main({String] | args) throws [OException

{

int ary| ] = new int[10];
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for{ing i=0 ; <10 ; i++)

{
ary{i}= (int)(Math.random{)*1000),
}
for(inti= 10 - 1;i>= 0; i--)
{
for(intj = 1;j <=1i; j++)
{
i ary[j-11> arylj] )
{
int temp;
temp = ary[j-11;
ary[j-1] = ary[jl:
aryfil — temp;
!
}
}
for(int i=0 ; i<10 ; i++)
|
System.out.print{ary[iJ+" ")
1

System.out.printlng);
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#include <cstdlib>
flinclude <dosiream™
using namespace std; HOAH (9 ED



struet phone{
int s1,s2,53,total;
char name{5];
b

void test3{phone ssf}, int size)

{ intj;
for(3=0;j<size;j ! 1)
{
ss[j]-total=ss{j].s1*¥1-t ss[j].52*2+ss!j]|.s3%3;
}

int manyint arge, char *argvi])
{
struct phone s{30];
ind 1,j;
for(i=0:1<2;i++)
{
printf ("%d's namein“,i1-1};
scanfi("%s",&sli}.name);
printf("tocal\in™);
scanf("%ed", &s|i].s1);
printf("long dis\n");
scanfi("%d", &sli].82);
printf{"mohile\n");
scanf("%d"  &sii].53);

H
test3(s,2);
printf{'"name  local long mobit total\n™);
LI wmm e m e e ‘n");
for(j=0;j<30:)++)
{

s[i].total=s|i).st+sfj[.s2+s{j].s3;
printf("%-5s %-6d %-6d %-6d H%-6dwn",s|j].name,sfj].sl,s[i].52,s[j].53,5[]] total);
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system{"PAUSL");
return EX11 SUCCESS;
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#include <cstdlib>
#include <iostream>
#include<stdio.h>
using namespace std;
int main(int arge, char *argvi]}
{
int a,b,sum=0,1-0,j,darray[10];
printfCSHRG A i/ NS 10 (EEIIRERIEETE )
scant("%d",&a);
b=a;
while(b!=0)
-{
darray[i]=v%10;
b=b/10;
i++:
}
for(j=i-1;)>=0;j--)
printf("§5 %« %d " darrayij]};
printf{"ain");
system{"PAUSE");
reuirn EXIT SUCCESS;
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#linclude <stdio.h>
#include <stdlib.h>
#define UMIT8  // ERIEH]
#define N 5 VIR irs ik
#define MIN 1 [ F BB
struct body |

char name[20};

int size;

int price;
HH
typedef struct body object;
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int main{void) {



int itemfLIMIT+1] = {0};

int valuefLIMIT+1] = {O};

object a[} = {{"/KFL", 4, 45},
{"#i5R", 5,57},
{"# ", 2, 22},
{"&j&E" 1, 1),
{"EL L, 6, 671

int i, s;

forfi=0;1 < N; t+4) {

for(s = a[il.size; s <= LIMIT; s++} {
int p =s - ali].size;

int newvalue = value[p] + alil.price;

if(newvalue > value(s]) {// TREUMEES B LM

valueis] = newvalue;
itemfs] = i;

}
printf{" AL {EAS\N");
for(i = LEIMIT; i >= MIN; i =i - afitem][i}].size)} {
printf{"%s\t%d\n",
ajitem]il].name, a[item{i]].price};
}
printf( & EH\t%d\n", value{LIMIT]};

return Q;

java
class Fruit {
public fina! String name;
public final int size;
public final int price;
public Fruit{String name, int size, int price} {
this.name = name;
this.size = size;

this.price = price;



public class Knapsack {
public static void main(String(] args}) {
final int MAX = 8:
final int MIN = 1;
int{} item = new int[MAX+1];
int[} value = new int[MAX+1]);
Fruit fruits]] = {
new Fruit("ZF—-", 4, 45),
new Fruit("f8%H", 5, 57),
new Fruit("ig—+", 2, 22),
new Fruit("§&t", 1, 11),
new Fruit{"g[JIL", 6, 67)};
for{int i = 0; i < fruits.iength; i++) {
for(int s = fruitsfi].size; s <= MAX; s+1) {
int p = s - fruits[il.size;
int newValue = value{p] + fruits[ij.price;
iflnewValue > value(s]) {// {¥EIHEFR I (242
value[s] = newValue;
item{s} =i;

H
System.out.printIn{" ¥ {&E");
for(int i = MAX; i >= MIN; i -= fruits[item]i}].size} {
System.out.printin{fruits[tem(i}}.name+
\t" + fruits[itern[i}}.price);
}
System.out.printin(" 5 Z |At" + value[MAX]);

# 9" (X DE)



